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e Quiz Review
Systems of Linear Equations

y;url:non tl;e following problems, showing your work. This review will be collected.
ust know how to graph equations WITHOUT a calculator!

1. At the right is the graph of the following system of ~ '°]”
equations: 8 :
[4x + 6y =48 1
y=3x+2 61
Madison looked at the graph and said that the ) :
solution to the system is (1.5, 7). Is Madison 24
correct? Explain your reasoning OR show your work. y X
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2. With the help of your graphing calculator, graph each system below and determine
if each system of has exactly one solution (please state the solution), an infinite
number of solutions, or no solution.

a. 12x+ 18y =36 2> y= cy’- ] J}))X Number of Solutions:
%y> BlL-12y TN . \

8x + 12y = 24 5 Yo, = E DK I Y
My = 24-§y WA

b. x+y=10 >y=__1- A Number of Solutions:
y=8-x - y = (not necessary) NY Solu
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\Yﬁ’ork on the following problems, showing your work. This review will be collected.
ou must know how to graph equations WITHOUT a calculator!
1. At the right is the graph of the following system of ~ '°]”
equations: 3:
[4x + 6y = 48 -
y=3x+2 61
Madison looked at the graph and said that the 4:
solution to the system is (1.5, 7). Is Madison 2
correct? Explain your reasoning OR show your work. 1 %
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2. With the help of your graphing calculator, graph each system below and determine
if each system of has exactly one solution (please state the solution), an infinite

number of solutions, or no solution.

a. 12x+ 18y =36 > y= f i ?-'}’?JX Number of Solutions:
|.(ﬁ’"\“’ B-12Y = _) f . . _.,-fl\'
8x + 12y = 24 >y=_A "~ 213X WATAY !
1y = 24-8v WA
b. x+y=10 > y=_14" pd Number of Solutions:
y=8-x > y = (not necessary) NY Solu
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> 1 4y ~._. Number of Solutions:
c. 9x+3y=27 ys | <~
3y=27-9y 5 By - " ONY
3x-9y=27 >y-_—2% 2o S on

,o\gm 25 w
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and
3. Pat bought 16 pounds of nuts to serve at a party. Pat bought someé peanut53 (P;r
some almonds (A). The total cost of the nuts was $60. The peanuts cost 3 p
pound and the almonds cost $5 per pound.

a) Write two equations, one representing the total cost and the other the total
amount of nuts purchased.

Pr iA=L
APy 502 00

b) Choose the elimination or substitution method to solve the system and
determine how many pounds of each nut Pat bought.

7 -3
_3p-3a=-4p &7
BWP+SA = o
IBz\2
A=l
PrAzl
‘P;U-;flj
?:!Q'/}

—

c) Write a sentence describing your answer. Check your solution.
Pox ‘00ua\\f\+ 0 Aos o8 Panuts
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ZA 4. Depending on what me
“~substitution) to

- "

Y thod you used in #3, use a different method (elimination or
ve the following system of equations:

[ x=C5+y )
2x +3y =10
Sfmm 2[5y +3y=16 Elim s RO
042y =10 N5 % 2y-2y: 15
-10+5Y =10 LY 43y * 10 > ABY © 10
: > 4 i 6X :: ’5
Ff)\?( & ZO - .
N7 X-y:-5
X: S5y = -l -],\‘:—6
=ty 2 | ==y
f'-\. 5. Find the solution to the foltowing system of equations using the graphing method- N 4

you must show work!

30x + 24y = 60 0]

/’ [20x + 16y = 40(1)

3 30x+’2 ‘-}\f - Ps) —
24\,:(}0’30‘( = all

by 24

V=25 =).25%
0¢ \{-:2_5-%¥

@ 20X ¥y =40 \ '.
\Uﬁ " 40'20% = a\ y;\l: ) ’ 'I'ﬂr'";'_ﬂ‘:r":\."(" -/ 5

q * 9\5 "\.26\‘
o y:25-5y




6. Solve the following systems of equations using your method of choice. If there '-'\
one solution, you MUST check that it satisfies the systemL-
3x -2y =2) »{gwi\"*f o {,'—1 X
{6x—4y=10 va dy = © 2x -5y =16
0% |, 2x-5(1-%) = 11
NO 2'7< -57 EY = v
.
olhon . W=D
¥=23 F =] <%
. 22 7
\! - - .
| 2(3)-5(-7) 1
s - Lo
(,").’23 W= 4l v
7. Solve by Substitution 8. Solve by Elimination \j)
e Lol %7\1 [(x—3y=6¥-3—‘v ~3ury=-6
4xr\+\2}' 8 : 3x -9y =18 %Y q\[v X
( Q= O
(D) +2y= |
2.5 2\’ 5 Indinitely
\/ \j\(s‘k-!\“ {
52y Y
- : , 3 :
— oys | by 2
/, %'-SJ ( V:L) OI“}B
q(o)+2u)~ 8

887 | X=8-2(d) = O
: 9. Writea system of equations that has no solutions. Then explain how you know
the system has no solutions. x5

; i - + s =88y
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form > wusr o N & it N = -3+
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